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; 100kN/m%#8 2% - -~ -[3mEHEZS -~ - -| 100kN/m%# %% - -~ -|3mZEHEZ D -~ -
zhs 1.00 1000 ~ 628 7893 | FnLS | 000 ~ 0.00)| 157 7.94 Fhs 1.00 | 56.00 ~ 810 7893 | #nLN | 6500 ~ 810 1.567 7.94
2 100kN/m%#8 2% -~ -[3mEHEZS -~ -| 100kN/m%# %% -~ -|3mZEHEZ D ~
zhs 1.001 000 ~ 6.45 81.21 | =0l | 000 ~ 645|1.87 9.45 Fhs 1.00 | 5.00 ~ 7.88 81.21 | =0l | 6500 ~ 7.88|1.87 9.45
3 100kN/MZ#BZ5| 1.00 | 000 ~ 191 129.47 |3mEHBAS ~ -| 100kN/m%##B25 | 1.00 | 1057 ~ 1791 129.47 |3mEBZD ~
zhs 1.00 | 1.91 ~ 9.70 100.00 | Fhds | 000 ~ 9.70 | 2.33 11.78 Fhs 1.00 | 5.00 ~ 1057 100.00 | FhLst | 5.00 ~ 17.91) 233 11.78
4 100kN/MZE#B25 | 1.00 | 000 ~ 264 141.49 |3mZEHBAS ~ -| 100kN/m%#B25 | 1.00 | 1055 ~ 2311 141.49 |3m%EFHBAD ~
zhs 1.00 | 264 ~ 1042 100.00 | =04t | 000 ~ 1042 267 13.561 Fhs 1.00 | 5.00 ~ 1055 100.00 | st | 5.00 ~ 2311|267 13.561
5 100kN/MZE#EZD| 1.00 | 000 ~ 281 144.34 |3mZEHBAS ~ -| 100kN/m#ZE#BZ% | 1.00 | 1057 ~ 2533 144.34 |3mEHBZD ~
zhs 1.00 | 281 ~ 1059 100.00 | =05t | 000 ~ 1059| 2.99 156.11 Fhs 1.00 | 5.00 ~ 1057 100.00 | LSt | 5.00 ~ 2533|299 156.11
P 100kN/m#%#BZ5| 1.00 | 000 ~ 235| 136.74 |3m&ERBZS ~ -| 100kN/m%ZE#BZ% | 1.00 | 11.48 ~ 29.77| 136.74 |3mE#BZ5D ~
zhs 1.00| 235 ~ 1014 100.00 | =05t | 000 ~ 1014|279 14.10 zhs 1.00 | 5.00 ~ 1148 100.00 | LSt | 5.00 ~ 2977|1279 14.10
7 100kN/m%#8 2% ~ -[3mEHEZS ~ -| 100kN/m%# %% ~ -|3mZEHEZ D ~
zhs 1.00 1000 ~ 7.44 94.99 | =0 | 000 ~ 744 1.80 9.07 Fhs 1.00|5.00 ~ 9.70 94.99 | TnLS | 5,00 ~ 9.70 | 1.80 9.07
g 100kN/M%E#EZ5| 1.00 | 0.00 ~ 0.60 108.91 |3m%ERBZRD ~ -| 100kN/m%#B25 | 1.00 | 1074 ~ 1259 108.91 |3m%EHBAS ~
Fhs 1.00 | 0.60 ~ 838 100.00 | s | 0.00 ~ 838|209 10.57 zhs 1.00 | 5.00 ~ 1074 100.00 | FhLst | 5.00 ~ 1259|209 10.57
9 100kN/m#%#BZ5| 1.00 | 000 ~ 230| 135.86 |3m&ERBZS ~ -| 100kN/m%#8z25| 1.00 | 1054 ~ 19.76| 135.86 |3mEHBZ5 ~ -
Fhs 1.00 | 230 ~ 1009 100.00 | =05t | 000 ~ 1009| 2.40 1214 zhs 1.00 | 5.00 ~ 1054 100.00 | LSt | 5.00 ~ 1976 | 2.40 1214
10 100kN/m#%#BZ5| 1.00 | 000 ~ 1.55| 12372 |3m&ERBZS ~ -| 100kN/m%#8z25| 1.00 | 1078 ~ 1592 12372 |3mEHBZ5 ~
Fhs 1.00 | 1.55 ~ 9.34 100.00 | =05t | 000 ~ 934|250 12.64 zhs 1.00 | 5.00 ~ 1078 100.00 | LSt | 5.00 ~ 1592 2.50 12.64
17 100kN/m#%#BZ5| 1.00 | 000 ~ 033 10483 |3mERBZS ~ -| 100kN/m#%E#BZ5| 1.00 | 12564 ~ 1396 104.83 |3mEHBZ5 ~
Fhs 1.00 | 0.33 ~ 811 100.00 | Fhs | 000 ~ 811|1.94 9.79 zhs 1.00 | 5.00 ~ 1254 100.00 | FhLst | 5.00 ~ 1396 1.94 9.79
12 100kN/m%#8 2% ~ -[3mEHEZS ~ -| 100kN/m%# %% ~ -|3mZEHEZ D ~
zhs 1.00 1000 ~ 705 89.42 | =0 | 000 ~ 0.00| 1.58 8.01 zhs 1.00 | 5.00 ~ 982 89.42 | #nLSY | 5,00 ~ 9.82 | 1.58 8.01
100kN/m%#8 2% ~ IMEHBAD ~ 100kN/m%#8 2% ~ ImEBZD ~
Thilst ~ st ~ zhs ~ st ~
100kN/m#E#BZ % ~ ImERBRD ~ 100kN/ m#Z#BZ % ~ ImEEZD ~
Thilst ~ Znist ~ zhs ~ st ~
100kN/m#E#BZ % ~ ImERBRD ~ 100kN/ m#Z#BZ % ~ ImEEZD ~
Zh Lot ~ ZhLlst ~ Zh Lot ~ ZhLlst ~
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